Martin Luther King / Review Test

1 Read the passage from 2. Growing up in the South, and answer the questions
below. [25 points]
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Choose the most appropriate words for ~ [ D ]. (2 points X 4)

a. differently b. even more c. small d. wrong

A B C D

. As for the underlined part (1), what was Martin's idea? Choose one from below. (3 points)

a. Things would get better soon, so black people had to be patient.
b. Black people should wait for white people to change their attitude.
c. Black people should take action if they wanted to change the situation.

. As for the underlined part (2), what did Martin experience? Fill in each blank with a

suitable word. (5 points)

He was told that he could not ( ) with his friend because he was ( ).

. As for the underlined part (3), what did Martin experience? Fill in each blank with a

suitable word. (5 points)
When he ( ) (
a bad name by her.

) a white woman, he ( ) ( )

Choose the two correct statements. (2 points X 2)

a. Martin and Warren were not in the same school.

b. Martin’s mother got angry with Warren’s mother.

c. Someone asked Martin why he did a bad thing to the white woman.
d. Martin walked into the white woman, but it was an accident.
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2 Read the passage from 4. War in America — and after, and answer the questions

below. [25 points]
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Choose the most appropriate words for ~ [ D ]. (2 points x 4)
a. agree b. get C. see d. fight

A B C D

. As for the underlined part (1), what couldn't black people do? Fill in each blank with a

suitable word. (3 points x 2)

a. They couldn’t go to ( ) schools.
b. They couldn’'t go to the same shops or ( ) as white people.

. As for the underlined part (2), what was its purpose? Fill in each blank with a suitable word.

(5 points)

It was to ( ) black people and to stop them from ( ) in ( ).

Choose the most appropriate word or phrase for [ E |. (2 points)

a. Because of b. Now that c. Though d. While

Choose the two correct statements. (2 points X 2)

a. There were no black slaves, but there were no schools for black people.

b. Many police officers in the South were members of the Ku Klux Klan.

c. A lot of black people were afraid of the Ku Klux Klan, and they left the South.
d. In the North, there was more freedom but there was little work for black people.
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